BRAKEFALEY UBALE € R

R P ERAR 114210 24p (BT ) = 11364

3 ‘2‘_&. j‘gi‘"‘\d—.gvﬁ.ﬂ—.

'. )ﬁ-ﬁi*%%Aﬁ?Pé"(pF‘F’IJ
oL REARG
T HEw A K
iﬁ/li%/%
ZRmiE
% R Fli
iﬁl‘a‘zﬂ?%

A% 5fL<\:)a‘FA)

A

T

2d A AgFAESF ST K RF P AL X F (Ut

(- )EHEFSHRZFMES- B2 5232 ~(5)
S gEmEp 114830 25 P43 11426
T2PaERFT0X o

(= )aw,f PP 23 % b X ERARAT R f B 40T
U W



2.BRFF 2=
3.7 R ycgFL 2 Fig 2 2
4. 3RFIRL 2 FEg 21 =
5.% B 1L X (4 ~ T =& 30 366 BREE)
6. HEAHE L 2R
T.22% % 2=
8. - = é’ 6 =
Ak L PR R o (4t )
T 9 3k

FERARERT S D A AW X BEEHFL - LY
Blo v iR ARGE A Y ERE S Z  RE R
R4 B 32D BUIE B A2 ICLEL £33 it o

AR D RF BRI RAEE T AL R 635
308 o (= 1140 4)



Kﬁ =3

BRIKEFARF S TP géiﬂﬁ%( *)
*AEFAEY 14 .
(FEEFART UIRALRAARLEUAILL) @itk

114 & b= T
AERE- 9:30-12:30 3:00-6:00
14 3o
R R (FRRE P AL PR KRR 2
3 (25| - :
B JT lr& JIEE_)
3%%:—_/\,"}3-?}\%
LiRgsF 2~ R %
3 (26| = [28p2 %% o
BHBEIE o
3|27 = |B KGR 2y o
3128| 1 | Ewpcdpa Hi oo
3 (29| » |izg o
3130 p |®¢ -

BARIRM £ 5302 &2 3

3131 - (1) &/ c @R Fh @) kilm
EINFCEALFAPEE L £ OpF T 125304 5 T 2430

36 pF)

401 = |BARIvm T -

LR E IR L B
412 = |[RARFOFERT (DR - QQFEL AL -
(32 M -

4 13 | = xﬁg

414 3 |izg o F” S~ 52EE)

4|5 | » |izg o

4 16| p |izg o

4 |7 - | 3R Fm Zg‘ﬁf‘ﬁ‘?@ °

418 | = [P ERF o
L S R E ?ﬁ?@i :

419 | = (VEZR-QiPhA- (3)§F o ()& FE R o (5)F &
e




114 # bz -
iop g‘; 9:30-12:30 3:00-6:00
4 10| = /ﬂ (85 2 KF’”%ZZ,‘FE%EJO
ﬁpmr'ﬂé‘p'fﬁhﬁ’%’*;a :
4 111 7 |E ) FRInrm EirE A o (1)""3'?’ wE R (23 ik o
(3)% FTE o
4112] = |#g o
4 |13| p |iz¢ -
4 114] - |1 FvPERTE
4 (15] = |1 aa3nm L7 -
4 (16| = |33 H LR g EBFLETH -
X FLIR ;jl*ﬁﬁ?-,—‘ ARG ‘
4117 2 ((VFAER%A- (Q2rch - (Qiz41h - (DF T 5B L P4
RE e (5)‘32/* > (6)5Th fix
4 18| 7 |%Fcinf 52739 -
4119| = |sg o
4120 p |iBg o
ALFTIN PR K R £, 'zf’%’rpai
e A€ B0 Q% 1 4
o E B RS A @Rt ATi e § -
WDErFrL g -
4122] = rsesvE £irEig .
4123| = |ibsedn e £irEi o
4 loa| p [HEF ?ﬁﬁﬁrﬁ’%‘*;’a /
(D)pAsch c Q5B A - Qi v DF &k -
4125| 1 |MgmmEaig o
4126 » |iB¢ o
4127 p |®g
KT L ST
2R R 2 - DFERTH @) k-
4|28 - MR AT Q)i b - (4)T 85 B &
G)z® +F -




114 = |- T X

1P B 9:30-12:30 3:00-6:00

4 30| = |%&7¥ 2%

5O A » b~ T B FC B o
EE

7= |PRREE e B R o
8 | w |BITRI B L

9| 1 % FpF - B R -

100 = |i& ¢ o

11| p %go

12 - |3 Feiyfea - B R R o

13| = |7 s e o IR -

14 IR - B R

i

15 = % i frid e PR

16

14

TR o PR o

17 = |z g o

ol o1 | o1 | 01| o1 01 01| o1 O O O | O1

18| p |#¢




114 # bz - x
TP f;; 9:30-12:30 3:00-6:00
5119 - |# FTRERE o R Eg o
5120| = | s - B R -

lLzFRF=1HF 4 -
5121 = 2.8 FE o
3L E% 4 -

L 1= ~=Z# ¢ -
| 22] L (FHA e

(QBHRARR &S -
5123 7 | Q)F&rREBHE -
2;’1 is 11@ o

24| = |im g o
25| p iz g o
26| -

1= ~=Z3 € ¢

27| = | ()%RD s % o

@ FFERL#S -

28| 2 | @)pmHeng
H 14 o

29 7 2.-,—:] i;é_

0 1 |wg -

31| = %go(;«%igﬁ)

o|lo|lo|o|o| o] o | oo

1| p |i®¢ o

13“;%12@_0
6 | 2| - [2H @ FE o
iz TR EFF o




ERTHERFAEE U RBEFZEEHRI X
R PERBR 1451 A 24 8(R)EF 11 8365
W REHBKETHRE

A
BE— 3 EABR =G _
PECTYV I RS
2R AH L s
ST VL % %
TS X
naian | A S
% B AR O UwA \\2
4EERE® R
PEYYY oX 8 7,
SR (R )
wEE % % 2
A E K JR_ & &%\
R E EAE %JZ‘Z
BEFEEE %??%%\




